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NeTtanusauus no knaccam/napannensm

OT1yeT yyntensa-npeameTHUKa

Kon-so OueHku

Ne | Knacc Mpeamert Mepwo, H/a| ocB. | % kau. | % ycn. | COY

p n p n yq-cﬂ ll5ll | ll4ll | ll3ll | ll2ll ° ° y
1 nonyrogne 17 11 6 100 100 87,3
1 2al WHdopmaTuka n NKT 2 nonyrogue 170 70 9] 1 94,1 100 77,2
MopoBad 171 8 9 100 100 80,9
1 nonyrogue 16| 8/ 8 100 100 82
2 26| WHdopmatuka n KT 2 nonyrogue 16| 5/ 10/ 1 93,8 100 73,5
MopoBad 16| 4| 12 100 100 73
1 nonyrogne 16| 6 7 3 81,3 100 72,3
3 28| WHdopmaTtuka n KT 2 nonyrogue 16| 2| 9 5 68,8 100 59,8
MopoBad 16| 6 6 4 75 100( 70,5
1 nonyrogue 171 8 7| 2 88,2 100 77,6
4 2r| WHdopmatuka n KT 2 nonyrogue 17| 8| 8| 1 94,1 100 79,3
lopoBad 17 7 9 1 94,1 100 77,2
1 nonyrogne 14 7/ 6| 1 92,9 100 80
5 3al WHdopmaTuka n NKT 2 nonyrogue 14| 7/ 6| 1 92,9 100 80
lopoBas 14 7/ 6| 1 92,9 100 80
1 nonyrogue 12| 5| 6| 1 91,7 100 76,7
6 36| VHcpopmatua u VKT 2 nonyrogue 12| 2/ 8] 2 83,3 100 65,3
MopoBas 12| 4 6 2 83,3 100{ 71,3
WToroBas 12| 4 6/ 2 83,3 100, 71,3
1 nonyrogne 14 11 3 100 100{ 92,3
7 38| WHdpopmatuka n KT 2 nonyrogue 14, 10[ 4 100 100, 89,7
logosas 14, 11} 3 100 100 92,3
1 nonyrogne 16 11 5 100 100/ 88,8
8 3r| WMHndopmatuka n VKT 2 nonyrogue 16| 9| 7 100 100, 84,3
logosas 16/ 10[ 6 100 100, 86,5
1 nonyrogne 12| 10, 2 100 100 94
9 4al WNudopmatuka n VKT 2 nonyrogue 12| 8| 4 100 100 88
logosas 12| 10[ 2 100 100 94
1 nonyrogne 1 6 5 100 100/ 83,6
10 46| WHdopmaTuka n KT 2 nonyrogue 1" 8 3 100 100, 90,2
logosas 11 8 3 100 100/ 90,2




1 nonyrogne 13 3 7/ 3 76,9 100 65,8
1 4| WHdopmaTuka n VKT 2 nonyrogue 13| 6/ 6/ 1 92,3 100, 78,5
lopoBas 13| 6| 6/ 1 92,3 100 78,5
1 nonyrogne 1 5 4/ 2 81,8 100 75,3
12 4r| NHdopmaTtumka n KT 2 nonyrogue 1" 6] 4/ 1 90,9 100, 81,1
lopoBas 11 6| 4 1 90,9 100 81,1
1 nonyrogne 9 1 6 2 77,8 100| 61,8
2 nonyroaue 9 4/ 3 2 77,8 100( 73,8

1 40 N VKT
3 Al Vinchopmatuka Fonosas o 2 4 3 66,7 100 62,7
WNtorosas 9 2| 4 3 66,7 100, 62,7
1 nonyrogue 16| 9| 5 2 87,5 100 80,8
14 7al WHdopmaTuka n NKT 2 nonyrogue 16/ 4/ 10 2 87,5 100/ 69,5
NopoBas 16, 7/ 9 100 100, 79,8
1 nonyrogne 15 2| 12| 1 93,3 100 66,9
15 76| WHdopmatuka n KT 2 nonyrogue 15 8| 7 53,3 100/ 50,9
NopoBas 15 1 10 4 73,3 100, 58,9
1 nonyrogue 14| 4| 9| 1 92,9 100 72,3
16 78| WHdopmaTtuka n KT 2 nonyrogue 15/ 5[ 7, 3 80 100, 70,4
NopoBas 15/ 5 9 1 93,3 100, 74,1
1 nonyrogue 16| 10| 6 100 100 86,5
17 8a| WHdopmaTuka n NKT 2 nonyrogue 16, 4| 12 100 100 73
lopoBad 16| 4| 12 100 100 73
1 nonyrogue 171 2| 9] 6 64,7 100 58,4
18 86| WHdopmatuka n KT 2 nonyrogue 17/ 2| 7, 8 52,9 100/ 55,1
MopoBad 171 2/ 5| 10 41,2 100( 51,8
1 nonyrogue 9 1 5 3 66,7 100 58,7
19 88| HchopmaTyka nt MKT 2 nonyrogue 9 1 5 3 66,7 100 58,7
lopoBas 9 1 5 3 66,7 100, 58,7
WToroBas 9 1 5 3 66,7 100/ 58,7
1 nonyrogne 13 4 7| 2 84,6 100( 70,8
20 8r| WHdopmatuka n KT 2 nonyrogue 13| 2 M1 100 100, 69,5
lopoBas 13| 3] 9 1 92,3 100 70,2
1 nonyrogne 16| 5 11 100 100 75,3
2 nonyroaune 16 16 100 100 64
21 9al WHdopmaTuka n NKT logosas 16, 3| 13 100 100, 70,8
Ok3. (be3 Tuna) 6| 5 1 100 100 94
WTtorosast 16| 4| 12 100 100 73
1 nonyrogne 15 31 8| 4 73,3 100| 63,7
2 nonyroaune 15| 2| 6] 7 53,3 100 55,7
22 96| WHdopmatuka n KT lopoBas 15 3] 7/ 5 66,7 100 61,9
Ok3. (be3 Tuna) 3( 1 1| 1 66,7 100 66,7
WTtorosast 15 3] 7/ 5 66,7 100 61,9




1 nonyrogue 11 2| 6] 3 72,7 100 62,9
2 nonyrogue 1 2 5 4 63,6 100| 60,4
23 98| WHdopmatuka n KT logoBas 1" 2 6 3 72,7 100, 62,9
Ok3. (6e3 Tmna) 3 3 100 100[ 100
WNtorosas 1" 2 6 3 72,7 100, 62,9
1 nonyrogue 10, 1 6] 3 70 100 59,2
24 9r| WMHdopmatuka n KT 2 nonyrogue 10, 1 5 4 60 100, 56,4
NopoBas 100 1 5 4 60 100, 56,4
1 nonyrogue 15| 15 100 100[ 100
25 10al WHdopmaTuka n NKT 2 nonyrogue 14, 4 10 100 100, 74,3
lopoBas 14/ 10, 4 100 100, 89,7
1 nonyrogue 11 11 100 100[ 100
26 106 WHdopmatuka n KT 2 nonyrogue 11 3 6 2 81,8 100, 68,7
NopoBas 1" 5 6 100 100, 80,4
1 nonyrogue 11 11 100 100[ 100
27 108| WHdopmaTtuka n KT 2 nonyrogue 12| 4/ 8 100 100 76
MopoBad 12 5 7 100 100 79
1 nonyrogue 12| 10| 2 100 100 94
8 113 Vincbopmatua u VKT 2 nonyrogue 1 9 2 100 100f 93,5
NopoBas 11 10 1 100 100, 96,7
WTtorosast 11 10| 1 100 100 96,7
1 nonyrogne 12| 9 3 100 100 91
2 nonyroaune 12| 9] 3 100 100 91

2 116 U VKT
? 0 Vcbopmaruka v Fonosas 12 o 3 100, 100 o1
WNtorosas 12/ 9 3 100 100 91
1 nonyrogue 12| 7/ 5 100 100 85
30 118 Vincpopmarika u VKT 2 nonyrogue 12 7, 5 100 100 85
NopoBas 12| 8| 4 100 100 88
WTtorosast 12| 8| 4 100 100 88
1 nonyrogne 1M 11 100 100{ 100
31 106 TexHonorus 2 nonyrogue 1 3 6/ 2 81,8 100 68,7
lopoBas 11 5/ 6 100 100 80,4
1 nonyrogne 1M 11 100 100{ 100
32 108 TexHonorus 2 nonyrogue 12 4/ 8 100 100, 76
lopoBas 12 7 100 100 79
1 nonyrogne 12 7, 5 100 100 85
2 nonyroaune 12| 7/ 5 100 100 85

33 11 T

? exnonorA Fonosas 12 8 4 100, 100 88
WNtorosas 12| 8| 4 100 100 88
1 nonyrogue 16| 16 100 100[ 100
34 1r TexHOnoMms 2 nonyrogue 16| 16 100 100, 100
NopoBas 16| 16 100 100, 100
WTtorosast 16| 16 100 100[ 100




Ntoro

1 nonyrogne 453( 243[ 171 39 91,4 100 80,9

2 nonyrogue 454| 171| 226| 57 87,4 100 74
lopoBas 454( 202| 208| 44 90,3 100 77,3

Ok3. (6e3 Tmna) 12| 9] 2| 1 91,7 100| 88,7
WNtorosas 135 67| 52| 16 88,1 100, 78,5
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